
12
18

4

4 16
15

1

14

13

22

21

23

2

518

17

17

20
19

7

8

RIGHT LEG SLOT
SCALE 1:2

3

9

6

25

24

24
25

10

11
NR. PART NUMBER DESCRIPTION PROD. ID QTY.
1 H-57-088-A Duun HBC standard wood frame - 1

2 H-34-028-A Bo/Ergo/Duun/Pan highback chair steel 
back bracket ba303400 1

3 Duun Hvilestol 
Ryggskum Duun High back Chair back foam ba205706 1

4 H-34-026-A Bo/Ergo/Duun/Pan bracket for gas 
spring/seat reg. ba303402 1

5 H-57-062-S Duun/Fjording/Ergo/Bo/Pan seat 
regulation bracket ba303401 2

6 H-34-022-A Bo/Duun/Ergo seat assembly highback 
chair - 1

7 Standard gas spring Gas spring 200N KIT1-K56043/K56045-1 
(Bo/Ergo/Pan) ba760002 1

      Standard release 
head - 1

8 Standard gas spring 
wire holder Gas spring 200N wire holder ba760020 1

9 Standard gas spring 
wire - Duun HBC open Bowden wire L85 ba910006 1

10 H-57-116-P Duun HBC cover for reg. handle ba760000 1

11 Gas spring release 
mechanism Duun hvilestol reg.hendel, rustfri ba30570005 1

12 Cross dowel M6x10x14 Pleksor 2014210311, Displaced Hole, Zn ba950402 4

13 Star Washer M6xØ11 Pleksor 5067980006, DIN 6798, Zn ba950904 4

14 Cylinder head bolt 
M6x90 Pleksor 1013111552, yZn, Hexagon NV4 ba950309 4

15 Glide Ø26mm Pleksor 5272201006, White Plastic ba760034 2

16 Glide Ø20mm Pleksor 5272201005, White Plastic ba760033 2

17 Vingemutter M6 Butterfly nut M6 ba950425 2

18 Pan Head Screw 
Ø4,5x20 Pleksor 0220045018, ABC-Spax, Zn ba950222 14

19 Hex bolt M8x30 Pleksor 1093308030, DIN933, Zn ba952503 2

20 Hex nut M8 Pleksor 2114130801, nylon lock, DIN985, Zn ba950422 2

21 Plastic slide bearing 
Ø10xØ8 L17 Plastic Sleeve Bearing for HBC backrest ba760017 2

22 Bolt backrest 8x60 Connecting bolt for HBC backrest M8x60 ba950501 2

23 Countersunk bolt M8x16 
Zn Pleksor 1013130664, DIN7991, Zn ba950610 2

24 Flat Head Screw 
Ø3.5x15 Pleksor 220035150, ABC-SPAX, Zn - 2

25 Flat Head Screw Ø3x12 Pleksor 220030120, ABC-SPAX, Zn - 5
Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

H-57-089-A Standard 
HBC recliner

Danel

1:6 mmDanel Jaanson A3

+/-0,3 mm

2021-10-29

2022-01-14

Duun highback chair Recliner, HB57050

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI

2022-01-14

Dimitri Leine



CONFIGURATION: 
STANDARD HBC STATIC

2 31

A

CONFIGURATION: 
WITH DOUBLE REG-HANDLE

DETAIL A
SCALE 1 : 2

2

3

4

1

ITEM NO. 3 IS FOR RESTRICTING ITEM NO.4 MOVEMENT

THREAD FOR BOLT MADE BY HAND

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 H-34-027-S Bo/Ergo/Duun/Pan bracket for fixed 
back ba303404 1

2 Hex bolt M8x30 Pleksor 1093308030, DIN933, Zn ba952503 2

3 Hex nut M8 Pleksor 2114130801, nylon lock, 
DIN985, Zn ba950422 2

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 H-76-044-A Nr5. Duun HBC dbl. handle reg. handle, 
Ral9006 ba305719 2

2 Pan Head Screw 
Ø4,5x20 Pleksor 0220045018, ABC-Spax, Zn ba950222 8

3 Hexagon Socket Bolt 
M6x16 Pleksor 1091206016, DIN912, Zn ba902302 2

4 H-57-096-S Duun HBC connec. bracket for double 
hande, stainless ba305717 1

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

H-57-089-A

Danel

1:6 mmDanel Jaanson A3

+/-0,3 mm

2021-10-29

2022-01-14

Duun HBC Additional configurations

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTIDimitri Leine

2022-01-14



CONFIGURATION: 
STANDARD WITH WHEELS

9 108

7

11

3

1

1

6

5

11

12

4

2

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 Hjul Ø75 Duun HBC double back wheel with 
brake 5925UJI075L51 ba910001 2

  BRTAPP M10x15 BRTAPP M10x15/10 ba916802 1

2 H-57-083-S Wheel bracket back legs (Duun HBC 
wheels set) ba305708 2

3 Hexagon Nylon Insert 
Nut M10 Pleksor 2114130604, DIN 985, Zn ba950408 2

4 H-57-099-A Duun HBC footrest assembly 1

  H-57-079-A Mounting bracket footrest and wheels 
(Duun HBC wheels set) ba305708 1

  Wheel Ø200 With spokes, Ø200x27mm, 38mm at 
center ba910000 2

  H-76-026-S Footrest- bracket, Ral 9006 ba303420 1
  H-76-025-T BO/ERGO foot board, grey lam ba153430 1
  Sleeve Nut M6 
Ø8x15mm Pleksor 1114411306, Zn ba951201 4

  Countersunk screw 
M6x16

Pleksor 1013131050, Hexagon socket, 
DIN7991, Zn ba950615 4

  Washer 8.4x18x2.9mm Pleksor 50PB801805, natur ba760078 2
  Dome NUT M8 Pleksor 2115870611, DIN986, Zn ba950409 2
  Pan Head Socket Bolt 
M8x25 2

  Washer M10x20x2 Pleksor 5010512150, DIN125, Zn ba950902 4
  Noise buffer, Ø10x3mm Self-Adhesive, Transparent ba760037 2

  Starlock Ø10mm cover Startlock m/hette Ø10mm ba760065 2

5 Cylinder Head Bolt 
M6x25 Zn ,Pan Head 5mm ba950708 4

6 Cylinder Head Bolt 
M6x32 Pleksor 10K6S06033, Pan Head, Zn ba950711 4

7 H-57-057-T Bush for pushing handle BU15991001 2
8 H-57-058-T Duun, Bo, Ergo push handle HBC BU15990001 1

9 Threaded Bolt Ø8x70 Pleksor 1513320700*, Zn ba951108 2

10 Sleeve Nut M8 
Ø10x16mm Pleksor 1114481019, NV5, Zn ba951206 2

11 Sleeve Nut M6 
Ø8x15mm Pleksor 1114411306, Zn ba951201 8

12 Noise buffer, Ø10x3mm Self-Adhesive, Transparent ba760037 1
Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by: UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

THIS DRAWING IS THE PROPERTY OF THE HELLAND BALTIC OÜ
AND MUST NOT BE COPIED OR USED

WITHOUT OUR APPROVAL

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

H-57-089-A

Danel

1:6 mmDanel Jaanson A3

+/-0,3 mm

2021-10-29

2022-01-14

Duun HBC Additional configurations

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTIDimitri Leine

2022-01-14


	Duun HBC (open side) - BOM
	Drawing View4
	Drawing View5
	Drawing View6

	Static / Double handle
	Drawing View7
	Drawing View9
	Detail View A (1 : 2)

	With wheels
	Drawing View11


